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@ (2a+b)?

® x>2+5x+6

@ (4a+b)?

® 4x% +20x+ 25

® 25
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O x+1 @ x+2 ® x+3 @ x+4 ® x+5
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® x+1,3x+1

@ x+6,2x

@ x+3,2x

® x+6,2x+3

@ x+3,2x+1



4. x?-dxy+3y?—6x+2y—16 = A5Eol SFAE Y (x+ay+b)(x+cy+d)
ZFEdek ol W, a4+ b4 c+d Y 27

@® -10 @ -9 ® -8 @ -3 ® 2



5. x4+ 2xy+y?-5x-5yE FEASIH?

@ (x+y)(x+y-5) @ (x+y)(x+y-10)
® (x-y)(x+y-5) @ (x-y)(x-y-5)

® (x+y)(x-y+10)



6. The A X%+ (-2y+3)x-(3y-1)(y+2) & U2 oliot] L2 A=
A= EfshH?

D 2x-2y+3 @ 2x-2y+1 @ 2x-3y+3

@ 2x-y+3 ® x-2y+3
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@ 13cm? @ 25cm?

® 7em?

® 91 cm?

@ 49cm?



8.  TFS 2T} e ATt o] Yo7t 2x2 4+ 5x+2 A uf, o] Atz o)

=o|=?
r—3
\\x+7,//
DO x+2 @ x-2 ® 2x+1

@ x-1 ® x+1



@ 27xy @ mxy ® 27x%y

@ nxy? ® n (2x2 + y)






11. (x-3y)2-2x+6y+ 15 SI5FEofotA?

@ (x-3y-1)2 @ (x-3y+1)?
® (x+3y-1)2 @ (x+3y+1)?2

® —(x+3y+1)?



12, (x+y)(x+y-1)-20 & HZ2A Aot 227

@ (x+y-5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-4) @ (x—y-4)(x-y+5)

® (x-y-5)(x-y+4)



13. ok A axt - 5x + 1.2 U] A} ARHA ] GOz Q1% BafHct ]
Mol Q4o e

D 2x+1 @ 2x-1 ® 6x

@ 6x+1 ® 4x-2



14. ¥ -5 +49] 947} ohd A&7

O x-1 @ x+2 @ x+1 @ x-2 ® x-4
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® 4x-13

@ 4x

® 4x+13

® 2x2 45

@ 2x*>-13



16. xy=3.,x+y*=6d ], x*+)*Jq2? (x+y>0)

D 23 @ 43 3 6V3 @ 843 ® 10V3



17. x—y=V2 L W], x2-2xy+y> +4x -4y +4 9] 3t&?

D 2+4V2 @ 3+4v2 ® 4+4V2
@ 5+42 ® 6+4V2
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